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Instructions- 

1. Use of Calculators, Mobiles etc. is prohibited in the examination hall. 
2. This question paper has four sections - A, B, C and D with 50, 20, 20, and 30 questions in each section and 

all the questions are compulsory.  
3. Each right answer will be awarded by 1 mark and for each wrong answer -.25 marks would be deducted.  
4. Only attempt those questions where you are sure about the answer because each wrong answer will reduce 

marks secured from the right answer. 
5. To mark the right answer, use the answer sheet given with the question paper. 
6. The right answer should be indicated by a filled up circle in the answer sheet with the HB pencil, as 

demonstrated below in the model question.   
 
Model Question 
  
 Hardwar is located on the bank of which river?  

a. Yamuna   b. Gomti 
b. Ganga   c.  Satluj 

 
Answer:  a  b  c  d 
 
 
 
 
 
   



[k.M&v Section-A 
lkekU; Kku General Knowledge 

 
1. Right to education is a fundamental right 

under : 
(a). Article-14 
(b). Article-19 
(c). Article-22 
(d). Article-23 

1. f'k{kk dk vf/kdkj ,d ekSfyd vf/kdkj gS] fufgr 
gS& 
(a). vuqPNsn &14 esa 
(b). vuqPNsn &19 esa 
(c). vuqPNsn &22 esa 
(d). vuqPNsn &23 esa 

2. The word ‘Hindu’ as reference to the 
people of Hind (India) was first used by -  
(a). The Greeks 
(b). The Romans 
(c). The Chinese 
(d). The Arabs 
 

2. fgUn okfl;ksa ¼Hkkjrh;ksa½ ds fy;s loZizFke ^fgUnq^ “kCn 
dk iz;ksx fd;k x;k & 
(a). ;wukfu;ksa }kjk  
(b). jkseuokfl;ksa }kjk 
(c). phuhokfl;ksa }kjk  
(d). vjcokfl;ksa }kjk  

3. Who introduced Sanskrit as an official 
language ?  
(a). Mauryas 
(b). Sakas 
(c). Guptas 
(d). Chalukys 

3. laLdr̀ dks jktdk;Z Hkk’kk ds :i esa fdlus lfEefyr 
fd;k & 
(a). ekS;ksZ us  
(b). “kdks us 
(c). xqIr us  
(d). pkyqD;ksa us  

4. The ratio between the length and breath 
of our tricolour national flag according to 
our constitution is -  
(a). 3:1 
(b). 3:2 
(c). 3:3 
(d). 3:4 
 

4. lafo/kku ds vuqlkj gekjs jk’Vªh; /ot ¼frjaxs½ dh 
yEckbZ vkSj pkSM+kbZ esa vuqikr gS & 
(a). 3%1 dk  
(b). 3%2 dk 
(c). 3%3 dk  
(d). 3%4 dk  

5. B.C. Roy Award is given in field of -  
(a). Sports 
(b). Journalism 
(c). Medicine 
(d). Music 

5. ^ch0lh0 jk; iqjLdkj^ fn;k tkrk gS & 
(a). [ksy esa 
(b). i=dkfjrk ds {ks= esa 
(c). fpfdRlk ds {ks= esa  
(d). laxhr esa  

6. In which state of India Nathula Pass is 
located ?  
(a). Sikkim 
(b). Uttarakhand 
(c). Uttar Pradesh 
(d). Punjab 
 

6. ukFkwyk njkZ Hkkjr ds fdl jkT; esa fLFkr gS\  
(a). flfDde esa 
(b). mRrjk[k.M esa 
(c). mRrj izns”k esa 
(d). iatkc esa  

7. 106 x 106 – 94 x 94 = …………..  
(a). 2400 
(b). 2000 
(c). 1904 
(d). 1906 

7.   106 x 106 – 94 x 94 = …………..  
(a). 2400  
(b). 2000 
(c). 1904  
(d). 1906  



8. The Word ‘Satyameva Jayate’ has been 
taken From  
(a). Mudaka  Upanishad  
(b). Tattreya Upanishad 
(c). Kath Upanishad 
(d). Ishovasya Upanishad 

8. ^^lR;eso t;rs** 'kCn fy;k x;k gS& 
(a). eqf.Mdk mifu"kn 
(b). rS=; mifu"kn 
(c). dB mifu"kn 
(d). b'kksokL; mifu"kn 

9. The Bhagirathi river originates from- 
(a). Gangotri 
(b) Gomukh. 
(c) Tapovan. 
(d). Vishnu Prayag 

9. HkkxhjFkh unh fudyrh gS & 
(a). xaxks=h ls   
(b). xkseq[k ls  
(c). riksou ls   
(d). fo".kq iz;kx ls  
 

10. “Astra” is   
(a). Air to Air to Missile 
(b). Battle Tank 
(c). Submarine 
(d). Helicopter 

  10. ^vL=* gS& 
(a). gok ls gok felkby 
(b). ;q) VSad  
(c). iuMqCch 
(d). gSyhdkWIVj 

    

Section-B 
(English Knowledge) 

 
 

Q1. Instructions:  Read the following passage carefully and mark out the correct answer from the alternative given 
below each question:  

Speech is a great blessing that it can also be a great curse, for while it helps us to make our intentions and 
desires known to our fellows, it can also, if we use it carelessly, make our attitude completely misunderstood. A slip 
of the tongue, the use of an unusual word, or of on ambiguous world, and so on, may create an enemy where we had 
hoped to win a friend. Again, different classes of people use different vocabularies, and the ordinary speech of an 
educated person may strike an uneducated listener as pompous. Unwittingly, we may use a word which bears a 
different meaning to our listener from what it does to persons of our own class. Thus speech is not a gift to use 
lightly without thought, but one which demands careful handling. Only a fool will express himself alike to all kinds 
and conditions of men.  

1. Speech can be a curse because it can 
(a) Hurt others 
(b) Create misunderstanding  
(c) Reveal our intentions 
(d)  Lead to carelessness 

     2. ‘A slip of the tongue’ means something said 
 (a) Without giving proper thought 
 (b) To hurt another person 
 (c) Unintentionally 
 (d) Wrongly by chance 
 



 3. The best way to win a friend is to avoid……………………….in speech 
  (a) Pomposity 
  (b) Irony  
  (c) Ambiguity 
  (d) Verbosity  
 Q.2 Instructions: Pick up the correct synonym for each of the following words: 

1. Fragment  
(a) Crumble   
(b) Scrap 
(c) Dissection  
(d) Cut 

2. Inevitable  
(a) Expected 
(b) Fixed 
(c) Unavoidable 
(d) Probable 

 
Q.3 Instructions: Choose one alternative which is opposite in meaning to the given word: 

1. Tentative 
(a) Developed 
(b) Final 
(c) Immediate 
(d) Urgent 

2. Meager 
(a) Extravagant  
(b) Excessive 
(c) Average 
(d) Plentiful 

 
Q.4 Instructions:  Choose an alternative which can replace the given words or sentence so as to communicate the 

same meaning: 
 1.  A place where bees are kept. 
  (a) Apiary 
  (b) Zoo 
  (c) Aquarium 
  (d) Aviary 
 2.  That which catches fire easily. 
  (a) Incombustible  
  (b) Incorrigible  
  (c) Inaudible 
  (d) Inflammable 
 
 
Q5. Instructions:  In the following questions some of the sentences have errors and some have none. Final which 

part of the sentences has an error. If no error, your answer will be (d). 
1. (a) My brother 

(b) Is drinking milk 
(c) Every morning 
(d) No error 



2. (a) He tried 
(b) to open the can 
(c) by a can opener 
(d) No error 
 

 [k.M&l Section-C 
¼nso laLd`fr] 'kkafrdqat] vk/;kfRed fo"k;½ 

(Dev Sanskriti, Shantikunj and Spirutual Topics) 
 

1- ia0 Jhjke 'kekZ vkpk;Z }kjk fyf[kr fgeky; ;k=k òrkUr dh iqLrd dkSu lh gS\ 
 ¼d½ lqulku ds lgpj ¼[k½ gekjh olh;r vkSj fojklr ¼x½ eSa D;k gwWa ¼?k½ lr;qx dh okilh 
 Which book is of Himalya Journey Commentary written by  Pt Shri Ram Sharma Acharya?    

(a) Companions of Solitude   (b) Our will and Heritage  (c) Who am I (d) Return of Satyug 
2- osnkUr n'kZu ds izfl) vkpk;Z gSa& 
 ¼d½ dchj  ¼[k½ 'kadjkpk;Z  ¼x½ egkohj Lokeh  ¼?k½ Lokeh jkerhFkZ 

 The famous Acharya of Vedant-Phiolosophy is- 
(a) Kabir  (b) Shankracharya (c) Mahvir Swami (d) Swami Ramteerth 

3- ;e&ufpdsrk laokn fdl xazFk esa gS\  
 ¼d½ bZ'kkokL;ksifu"kn~  ¼[k½ dBksifu"kn~ ¼x½ dsuksifu"kn~  ¼?k½ rSrfj;ksifu"kn~ 

In which scripture is Yam-Nachiketa conversation? 
(a) Ishavasyopnishad  (b)  Kathopnishad (c)  Kenopnishad (d) Taitariyopnishad 

4- laoRlj ds vuqlkj u;k o"kZ dc ls izkjEHk gksrk gS\ 
 ¼d½ 1 tuojh  ¼[k½ pS= 'kqDy izfrink ¼x½ dkfrZd 'kqDy izfrink ¼?k½ fdlh ls ugha 

 When does the New Year begin according to samvatsar?  
(a) 1st January  (b) Chaitra Shukla Pratipada (c) Kartik Shukla Pratipada (d) None of these  

5- ia0 Jhjke 'kekZ vkpk;Z th ds vuqlkj lk/kuk D;k gS\ 
 ¼d½ thou lk/kuk 
 ¼[k½ ea= dh izsj.kk vuqlkj thou thuk 
 ¼x½ r`".kk] okluk] LokFkZ] ladh.kZrkvksa dks thou esa LFkku u nsuk 
 ¼?k½ mi;ZqDr lHkh 

 What is Sadhna according to Pt. Shri Ram Sharma Acharya Ji? 
(a) Life Management  
(b) Living a life under influence of Mantras  
(c) Avoid giving space to wrong desires, ambitions and narrow-mindedness in life 
(d) All of the above 

 
 



[k.M&n Section–D 
fo"k; Kku Subject Knowledge 

(MA/Diploma Journalism and Mass communication) 
 

1. Exchange of views and ideas, information, knowledge with mass, is called 
(a) Mass Communication    (b) Communication 
(c) Public Relations     (d) None of These 
 
2. Which of the following departments of a newspaper is related to collection and structuring of News? 
(a) Administration     (b) Printing Press 
(c) Advertising     (d) Editorial 
 
3. The abbreviated form AIR stands for which of the following terms? 
(a) All India Railways     (b) All India Roadways 
(c) All India Radio     (d) None of the above 
 
4. Which is the largest circulated single edition daily newspaper in India? 
(a) The Hindu      (b) The Times of India 
(c) Dainik Jagran     (d) Amar Ujala 
 
5. Which of the following is not a Journalist? 
(a) Arun Shourie      (b) Tarun Tejpal 
(c) Mira Kumar     (d) Prabhu Chawala 

 
 
 

 [k.M&n Section–D 
fo"k; Kku Subject Knowledge 
(MA Tourism Management) 

 
1- jFk;k=k fdl eafnj dk eq[; R;ksgkj gS\    Rathyatra is a major festival in the temple at? 

¼v½ }kfjdk  ¼c½ iqjh    (a) Dwarika  (b) Puri 
¼l½ v/;ks/;k  ¼n½ fo'oukFk   (c) Ayodhya  (d) Vishwanath 

2- pkbuk ihd dgkWa fLFkr gS\     Where is the China Peak situated? 
¼v½ mRrjdk”kh  ¼c½ nsgjknwu   (a) Uttarkashi  (b) Dehradun 
¼l½ uSuhrky  ¼n½ gfj}kj   (c) Nainital  (d) Haridwar 

3- fo'o izfl) ^Qwyksa dh ?kkVh* dh fLFkfr dgkWa gSa\   The world famous ‘Valley of Flower’ is situated at- 
¼v½ peksyh  ¼c½ iqjh    (a) Chamoli  (b) Puri 
¼l½ fiFkkSjkx<+  ¼n½ pEikor   (c) Pithoragarh  (d) Champawat 

4- fMLdojh vkQ bf.M;k ds ys[kd dkSu gaS\   Discovery of India is written by? 
¼v½ tokgj yky usg: ¼c½ egkRek xkWa/kh   (a) Jawahar Lal Nehru  (b) Mahatma Gandhi 
¼l½ ljkstuh uk;Mw  ¼n½ bafnjk xkWa/kh   (c) Sarojni Naidu    (d) Indira Gandhi 

5- usryk jk"Vªh; m|ku dgkWa ij gS\    Pushkar temple is situated in which state? 
¼v½ >kj[k.M  ¼c½ fcgkj    (a) Jharkhand   (b) Bihar 
¼l½ caxky   ¼n½ vklke   (c) Bangal   (d) Assam 

6- mRrjk[kaM ds i;ZVu ea=h dk uke D;k gS\   What is the name of Uttarakhand Tourism Minister? 
¼v½ vèrk jkor   ¼c½ lhrk jkor   (a) Amrita Rawat      (b) Sita Rawat 
¼l½ izhre jkor  ¼n½ lquhrk jkor   (c) Pritam Rawat          (d) Sunita Rawat 

 



Section –D 
Subject Knowledge 

(M.Sc Computer Science) 
 

1. ‘C’ is a       2. The purpose of the following program fragment: 
(a) High Level Language       b = s + b; s = b - s; 
(b) Low Level Language     b = b - s; 
(c) High Level Language with some low level features where s,b are two integers is to 
(d) Low level Language with some high level features  (a) Transfer the contents of s to b 
        (b) Transfer the contents of b to s 
        (c) Exchange (swap) the contents of s and b 
        (d) Negate the contents of s and b  
 
3. If  abc is the input, then the following program  4. The following statements for (i = 3; i < 15; 
    fragment char x, y, z ; printf ( “%d”, scanf (“%c%%c”, i +=3) {printf (“%d”, i); ++i;} 
    &x, &y, &z)); results in     will result in printing of 
(a) a syantax error      (a) 3, 6, 9, 12  
(b) a fatal error      (b) 3, 6, 9, 12, 15  
(c) Segmentation violation     (c) 3, 7, 11 
(d) Printing of 3       (d) 3, 7, 11, 15 
 
5. UNIX was developed by 6. In a system, if 5 people are currently using 

the vi  
(a)  Bell Labs editor, then the number of corresponding 

processes  
(b) Berkley Software Group will be  
(c) California University (a) 1   
(d) American Defense Academy (b) 5 
 (c) 2 
 (d) 0 
 
 
 

[k.M&n Section-D 
fo"k; Kku Subject Knowledge 

euksfoKku Psychology  
 

1- euksfoKku esa igyh iz;ksx'kkyk dh LFkkiuk fduds }kjk dh xbZ\ 
¼d½ fofy;e tsEl   ¼[k½ fofy;e oq.V 
¼x½ fofy;e eSdMqxy   ¼?k½ lj QSzafll xkYVu 

2- fuEufyf[kr esa ls fdl {ks= esa euksfoKkfu;ksa dh la[;k lcls vf/kd gS\ 
¼d½ lekt euksfoKku   ¼[k½ ijke'kZ euksfoKku 
¼x½ uSnkfud euksfoKku  ¼?k½ f'k{kk euksfoKku 

3- ftl izs{k.k esa izs{kd O;fDr ds O;ogkjksa dk v/;;u nwj ls gh vFkkZr muds dk;ksZa esa fcuk gkFk cVkWa;s djrk gS] mls dgk 
tkrk gS& 
¼d½ LokHkkfod izs{k.k  ¼[k½ lgHkkxh izs{k.k 
¼x½ vlgHkkxh izs{k.k  ¼?k½ fu;U=.k Iksz{k.k 
¼?k½ og gkjeksUl ftlls bUlwfyu dk lzko gksrk gSA 

4- vkuqokaf'kdrk ds okLrfod fu/kkZjd dkSu gksrs gSa\ 
¼d½ thUl    ¼[k½ xq.klw= 
¼x½ U;wjksUl    ¼?k½ dks'k 'kjhj 



5- euksHkkSfrdh ls D;k rkRi;Z gksrk gS\ 
¼d½ ,d ,slk foKku ftlls lh[kuk rFkk Lèfr dk v/;;u fd;k tkrk gSA 
¼[k½ ,d ,slk foKku ftlls mn~nhid rFkk mls mRiUu laosnu ds laca/k dk v/;;u fd;k tkrk gSA 
¼x½ ,d ,slk foKku ftlesa lHkh rjg ds ekufld izfdz;kvksa dk o.kZu HkkSfrdh ds vuqlkj fd;k tkrk gSA  
¼?k½ ,d ,slk foKku ftlesa lHkh rjg ds nSfgd izfdz;kvksa ds fo'ys"k.k ij cy Mkyk tkrk gSA  

 
 

 [k.M&n Section–D 
fo"k; Kku Subject Knowledge 

(MA Indian History & Culture) 
 

1- jFk;k=k fdl eafnj dk eq[; R;ksgkj gS\    Rathyatra is a major festival in the temple at? 
¼v½ }kfjdk  ¼c½ iqjh    (a) Dwarika  (b) Puri 
¼l½ v/;ks/;k  ¼n½ fo'oukFk   (c) Ayodhya  (d) Vishwanath 

2- fMLdojh vkQ bf.M;k ds ys[kd dkSu gaS\   Discovery of India is written by? 
¼v½ tokgj yky usg: ¼c½ egkRek xkWa/kh   (a) Jawahar Lal Nehru  (b) Mahatma Gandhi 
¼l½ ljkstuh uk;Mw  ¼n½ bafnjk xkWa/kh   (c) Sarojni Naidu    (d) Indira Gandhi 

3- yn~nk[k dk izfl) xksEik fdl LFkku ij gSa\   Which is the famous Gompa in Ladakh 
¼v½ gfel   ¼c½ fge’kq    (a) Hemis    (b) Hemisu 
¼l½ fidklk  ¼n½ ykseks    (c) Pakasa    (d) Lomo 

4- xzkUV VSªad jksM fdl bZloha esa LFkkfir gqbZ Fkh\   Establishment period of Grand Trunk Toad 
¼v½ 16 bZ0   ¼c½ 17 bZ0   (a) 16 Century   (b) 17 Century  
¼l½ 19 bZ0     ¼n½ 18 bZ0   (c) 19 Century   (d) 18 Century  

5- ea'kk ,oa p.Mh nsoh eafnj dgkWa fLFkr gS\    Where is the Mansha & Chandi Devi temple? 
¼v½ gfj}kj  ¼c½ mRrjdk'kh   (a) Haridwar   (b) Uttarakashi 
¼l½ ikSM+h   ¼n½ fVgjh    (c)  Pauri   (d) Teheri 

 
[k.M&n Section – D 

fo"k; Kku Subject Knowledge 
(MA/MSc/PG Diploma Yog) 

 
 
1- mn~xhFk ;ksx dh dkSu lh izfdz;k gS\    Udgeeth represents which yogic practice? 
 ¼d½ vklu  ¼[k½ izk.kk;ke   (a) Asana  (b) Pranayam 
 ¼x½ eqnzk   ¼?k½ /;ku    (c) Mudra  (d) Meditation 
2-  gB;ksx ds vkfn izorZd dkSu gSa\    Who was the first promoters of Hatha Yoga? 
 ¼d½ jke    ¼[k½ d`".k   (a) Ram  (b) Krishna  
 ¼x½ f'ko   ¼?k½ xksj{kukFk   (c) Shiva  (d) Buddha 
3-  fuEu esa ls /;kukRed vklu dkSu lk gS\    Which of the following is a meditative posture?  
 ¼d½ 'koklu  ¼[k½ 'kyHkklu   (a) Shawasna  (b) Shalabhasana

 ¼x½ fl)klu  ¼?k½ /kuqjklu   (c) Siddhasna  (d) Dhanurasana 
4-  iwjd fdl izfdz;k dk vax gS\    Purak the component of which practice?  
 ¼d½ /;ku   ¼[k½ ca/k    (a) Dhyan  (b) Bandh 
 ¼x½ izk.kk;ke  ¼?k½ lekf/k   (c) Pranayam  (d) Samadhi 



5- egf"kZ iratfy }kjk iz.khr ;ksx dkSu lk gS\   Maharshi Patanjali is the propounder of which yoga? 
 ¼d½ lIrkax ;ksx  ¼[k½ v"Vkax ;ksx   (a) Saptanga Yoga (b) Ashtanga Yoga

 ¼x½ prqjax ;ksx  ¼?k½ dksbZ ugha   (c) Chaturanga Yoga (d) None of these 
 

 

[k.M&n Section-D 
fo"k; Kku Subject Knowledge 

(MA Applied Education) 
 

1- Ldwyksa esa nh tkus okyh f”k{kk gS&   2-  Ldwyksa esa dk;Zdze vk;ksftr fd, tkrs gSa& 

 ¼d½ vukSipkfjd      ¼d½ izn”kZu ds mís”; ls 

¼[k½ vkSipkfjd      ¼[k½ jpukRed izof̀Ùk fodflr djus ds fy, 

¼x½ fujkSipkfjd      ¼x½ nwljksa dh cjkcjh djus ds fy, 

¼?k½ buesa ls dksbZ ugha     ¼?k½ iz”kklu dks izHkkfor djus ds fy, 

3- f”k{kk dk vFkZ gS&     4- mÙkjk[k.M dk dkSu lk rhFkZ ”kadjkpk;Z }kjk LFkkfir fd;k x;k gS\ 

 ¼d½ IkkB~;dze iwjk djuk     ¼d½ dsnkjukFk   

 ¼[k½ ijh{kk dh rS;kjh djkuk    ¼[k½ xaxks=h 

 ¼x½ ukSdjh ds fy, rS;kj djuk    ¼x½ cnzhukFk 

 ¼?k½ thus ds fy, dq”kyrk,¡ fodflr djuk   ¼?k½ tkxs”oj 

5- ,d yksdrkaf=d jkT; dks tuf”k{kk ds fy, D;k  6- “kkfUrdqUt dk izeq[k cy fdl ij gS\ 

dk;Z djuk pkfg,\     ¼d½ ;Kksa ij  

¼d½ izR;sd xk¡o esa gkbZLdwy [kksyuk pkfg,   ¼[k½ fopkj dzkfUr ij  

¼[k½ vyx&vyx Ldwyksa esa vyx&vyx /keksZa dh   ¼x½ xkS”kkyk ij 

    f”k{kk dk izcU/ku djuk pkfg,A    ¼?k½ izopuksa ij 

¼x½ futh “kS{kf.kd laLFkk,¡ [kksyus ds fy,  

    izsfjr djuk pkfg, 

¼?k½ izkS<+ksa dks dsoy fy[kuk fl[kkuk pkfg,] i<+uk ugha 


